9 Appendix

9.1 Code Base

https://github.com/jasonrenl12/PredictionFocusedTopicModel

9.2 Theorem Proofs

Theorem 1. Suppose that the channel switches €4 and the document topic distribution 684 are conditionally
independent in the posterior for all documents, then 8 and w have disjoint supports over the vocabulary.

Proof. For simplicity of notation, we assume a single document and hence drop the subscripts on £; and 6.
All of the arguments are the same in the multi-document case. If £ and 6 are conditionally independent in
the posterior, then we can factor the posterior as follows: p(§,0|w,y) = p(&|w, y)p(0|w,y). We expand out
the posterior:

p(&, 0w, y) o< p(§)p(0)p(w, y|0, )
o< p(&)p(0)p(yl0) [ [ ps(wnl6) " pr(wn) '~

&) [T ps(wal6)*

for some functions f and g. Thus we see that we must have that [, ps(w,|0)*" factors into some r(6)s(§).
We expand [],, pg(w,|0)5:

&n
pﬁ(wn|9)f" = (Z ﬁk,u;n9k>
k
=1 =0)+1(, =1) (Z Bk,wn9k>
k

So that we can express the product as:

Hp5 |9 5” = H {I(fn = O) + I('fn = 1) (Z ﬁk,wn9k> }
k

n

In order to further simplify, let By = {n : >, Br,w, = 0} and B> = {n : Y, Br.w, > 0}. In other words Sy
is the set of n such that the word w, is not supported by 3, and S~ is the set of n such that the word w,, is
supported by 5.

We can rewrite the above as:

Hpﬁ(wTLW)En = H I(gn = O) H { (€n = 0 +I Zﬂk W, }

nepBo nePs

Thus, we see that we can factor [], ps(w,|60)* as a function of § and ¢ into the form r(0)s(¢) only if &, = 0
or &, = 1 with probability 1. We can check that this implies Bl;rw = 0 for each k by the result of Theorem
2. O

Theorem 2. 37 = 0 if and only if there exists a £€* s.t. p(€¥|w,y) =1
Proof. 1. Assume 377 = 0. Then, conditional on w,, &, = 1 with probability 1 if 7,,, = 0 and &, = 0

with probability 1 if 7, > 0. So we have p(&*|w,y) = 1 for the £* corresponding to w as described
before. 10



2. Assume there exists a £* s.t. p(€*|w,y) = 1.

Then we have:

p(w,yl6)p(E")
PIETw.y) = z€p<w G >
p(w, yl€")p Zp (w, yl€)p

This implies p(w, y€)p(€) = 0 ¥ € # &*, which implies p(w,y|€) = 0V € # &*

Then we have:

p(w,yl€) = p(y|w, §)p(wl§)

= ([ sutorwiorw.€1an) ( [ vt ioran)

The first term will be greater than 0 because y|6 is distributed Normal. We focus on the second term.

/9p<w|e,s>p< o = / )T s(a 0 i) =

Let X be the set of £ that differ from &* in one and only one position, i.e. &, = & for all n €
{1,...N}\ {i} and & # &. For each £ € X, [,d0p(0) ], ps(wnl|0)* pr(wy,)' =" = 0. Since all
functions in the integrand are non-negative and continuous, pg(w,,|0)%" px(w,)!=¢» = 0 for all @ for the
unique ¢ with & # &. Since this holds for every element of X, we must have that pg(w,|8) = 0 for all
&, = 0 and pr(wy,) = 0 for all &, = 1, proving 8 and 7 are disjoint, provided the minor assumption
that all words in the vocabulary w,, are observed in the data. In practice all words are observed in the
vocabulary because we choose the vocabulary based on the training set.

O
9.3 ELBO (per doc)

Let A = {a,8,n,6, 7, p}. Omitting variational parameters for simplicity:

lozp(w.y1) =1og [ 375 p(6.2.€.w.yI0)as
z £

_ p(@,z,E,w,yM))
‘M%< 1(0,2,€)

> Eq [logp(ea z, £a w, Y)] - EQ[q(ea z, 5)]

Let ELBO = Ey[logp(0,2,&,w,y|A)] — Eglq(6,2,)]
Expanding this:

ELBO = E,[logp(0]a)] + Eq[log p(z|0)] + Eq[log p(yl0,n, )]

+E [ (€|p)] q[logp(w|z,ﬂ,§,7r)]
— Eqy[log ¢(0[7)] — Q[lhfg q(2|¢)] — Eq[log ¢(£]¢)]



The distributions of each of the variables under the generative model are:

64 ~ Dirichlet(c)
Zdn |04 ~ Categorical(6,)
Ean ~ Bernoulli(p)

Wan|Zdn, Ean = 1 ~ categorical(f8.,,, )
Wan |Zdn, Ean = 0 ~ Categorical()
yalfa ~ GLM(0; 7, 0)

Under the variational posterior, we use the following distributions:

64 ~ Dirichlet(vq4)
zan ~ Categorical(¢ay,)
fdn ~ Bernoulli(@wdn)

This leads to the following ELBO terms:

E,llog p(f|a)] = logT (Z ozk> - Zlog I(ag) + Z(ak —1)E,[log 6]
k k k
Eyllogp(z/0)] = > " ¢k Eqllog 0]
n k

E [Ing(W|Z 5751 Z (Z wnv@v) * (Zz¢nkwnv 10gﬂk7j> + <]— — (Z wnv@v)) <Z Wno 10g7rv>
k v v v
Eq[log p(&lp)] Z (Z wm)sOu) logp + <1 - (Z wm,gov)) log(1 — p)

Eqlq(0]7)] = logI’ (Z %) ZlogF Vi) + Z Yk — 1) Ey[log 0]
k
)] = Z Z ¢nk IOg d)nk
n k

Eqlq(&l9)] Z (Zwmm) log (Zwm%> + <1 - (27; wm%>> log (1 - (21; wm%>>

1
Eyflogp(ylt,n, 0)] = 5 L log 2ms — 55 (U7 = 2y " Eq[0] +n' E,[00"]n)

K
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Other useful terms:
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9.4 Lower Bounds on the Log Likelihood

Remark that the likelihood for the words of one document can be written as follows:

W) = /0d9p(0|oz) {H[p*pa(wﬂ@) +(1 —P)Pw(wn)]}

We would like to derive a lower bound to the joint log likelihood p(y, w) of one document that resembles
the prediction constrained log likelihood since they exhibit similar empirical behavior. Write p(y, w) as
E¢[p(ylw,&)p(w|¢)] and apply Jensen’s inequality:

log p(y, w) > Eellog p(y|w,§)] + Ee[log p(wl¢)]
Focusing on the second term we have:

log p(w|¢) = log/d9p (6]cv) Hpﬁ (wn]0)" pr (wy)' 5

n=1

Applying Jensen’s inequality again to push the log further inside the integrals:
log p(wl¢) > / d6p(6]r) {an log ps (wn|0) +Z (1-¢) logpwmn)}
n=1

Note that # and £ are independent, so we have:

N

N
Zgn IngB wn|9 Z 1 _gn Ingﬂ(wn)]

i=1

logp(y, w) > Ellogp(y|w,&)] + E

where the expectation is taken over the £ and 6 priors. This gives the final bound:

logp(y, w) > Elog ps(y|W1(€))] + pE[log ps(w|0)] + (1 — p) log p(w)

We have used the substitution: p(y|w,&) = pg(y|W1(§)). Conditioning on &, y is independent from the set
of w, with &, = 0, so we denote W7 () as the set of w, with &, = 1. Tt is also clear that p(y|W1(£),€) =
pa(y|Wi(§)). By linearity of expectation, this bound can easily be extended to all documents.

Note that this bound is undefined on the constrained parameter space: = 0;if p # 0 and p # 1. This is
clear because log p(w) or log pg(w,|0) is undefined with probability 1. We can also see this directly, since
p(y, w|€) is non-zero for exactly one value of & so E[log p(y, w|€)] is clearly undefined. We derive a tighter
bound for this particular case as follows. Define £* (7, 3, w) as the unique £ such that p(w|£) is non-zero.
We can write p(y, w) = p(y, W|&*(m, B, w))p(£* (7, B, w)). For simplicity, I use the notation £* but keep in
mind that it’s value is determined by 8, m and w. Also remark that the posterior of £ is a point mass as £*.
If we repeat the analysis above we get the bound:

N
> & pp(wal)

n=1

N
logp(y, w) = ps(y|W1i(£")) + E Z *) log pr(wy) + p(€7)

which is to be optimized over 8 and 7. Note that the p(£*) term is necessary because of its dependence on 3
and 7. Comparing this objective to our ELBO, we make a number of points. The true posterior is £* which
would ordinarily require a combinatorial optimization to estimate; however we introduce the continuous
variational approximation £ ~ Bern(y). Note that the true posterior is a special case of our variational
posterior (when ¢ = 1 or ¢ = 0). Since the parameterization is differentiable, it allows us to estimate £*
via gradient descent. Moreover, the parameterization encourages 5 and 7 to be disjoint without explicitly
searching over the constrained space. Empirically, the estimated set of ¢ are correct in simulations, and
correct given the learned 5 and 7 on real data examlfges.



9.5 Implementation details

In general, we treat « (the prior for the document topic distribution) as fixed (to a vector of ones). We tune
pc-SLDA using Hughes et al. [2017b]’s code base, which does a small grid search over relevant parameters.
We tune sLDA and pf-sLDA using our own implementation and SGD. § and 7 are initialized with small,
random (exponential) noise to break symmetry. We optimize using ADAM with initial step size 0.025.

We model real targets as coming from N(n'6,§) and binary targets as coming from Bern(o(n"6))

9.6 pf-sLDA likelihood and prediction constrained training.

The pf-sLDA marginal likelihood for one document and target can be written as:

p(w,y) = p(y|w) p(w,0,¢)
>

= plolw) [ p(01o) [T {o # st 10,6, = 1.5)+ (1= p) = (sl = 0.7}

where n indexes over the words in the document. We see there still exist the p(y|w) and p * pg(w) that are
analagous to the prediction constrained objective, though the precise form is not as clear.

9.7 Data set details

e Pang and Lee’s movie review data set [Pang and Lee, 2005]: There are 5006 documents. Each document
represents a movie review, and the documents are stored as bag of words and split into 3754/626/626
for train/val/test. After removing stop words and words appearing in more than 50% of the reviews or
less than 10 reviews, we get |V| = 4596. The target is an integer rating from 1 (worst) to 10 (best).

e Yelp business reviews [Yelp, 2019]: We use a subset of 10,000 documents from the Yelp 2019 Data set
challenge . Each document represents a business review, and the documents are stored as bag of words
and split into 7500/1250/1250 for train/val/test. After removing stop words and words appearing in
more than 50% of the reviews or less than 10 reviews, we get |V| = 4142. The target is an integer star
rating from 1 to 5.

e Electronic health records (EHR) data set of patients with Autism Spectrum Disorder (ASD), introduced
in Masood and Doshi-Velez [2018]: There are 3804 documents. Each document represents the EHR of
one patient, and the features are possible diagnoses. The documents are split into 3423/381 for train/val,
with |V| = 3600. The target is a binary indicator of presence of epilepsy.

e Synthetic: We simulate a set of 5 data sets. Each data set is generated based on the pf-sLDA generative
process with 8 and 7 random, each with mass on 50 features. This means there are 100 total features,
50 relevant and 50 irrelevant. Other relevant parameters are K = 5, o = 1, and p = 0.25. We use
these data sets to test the effectiveness and reliability of the feature filtering of pf-sLDA under the
well-specified case when we have ground-truth.

9.8 Full Pang and Lee Movie Review Topics

See Table below. 14



sLDA pce-sLDA, A =10 pf-sLDA, p = 0.10

1 motion, way, love, per- | best, little, time, good, don, | wars, emotionally, allows,
formance, best, picture, | picture, year, rated, films | academy, perspective,
films, character, charac- | just tragedy, today, important,
ters, life oscar, powerful

m || 7.801 8.287 10.253

2 kind, poor, enjoyable, pic- | little, just, good, doesn, life, ,  study, emotions,
ture, excellent, money, | way, films, character, time, | rare, perfectly, wonderful,
look, don films, year characters unique, power, fascinating,

perfect

N2 || 5.994 8.127 8.792

3 running, subject, 20, char- | country, king, stone, dark, | jokes, idea, wasn, , pre-
acter, message, charac- | political, parker, mood, | dictable, , unfortu-
ters, minutes just, make, | modern, dance, noir nately, tries, nice, problem
time

ns || 5.735 4.407 6.258

4 , language, | subscribe, room, jane, | tedious, poorly, horror, dull,
teenagers, does, make, | disappointment, michel, , parody, worse,
good, sex , violence, | screening, primarily, reply, | ridiculous, supposed, bad
rated, just frustrating, plenty

Ny || 5.064 3.440 2.657

5 plot, time, bad, funny, | script, year, little, good, | suppose, lame, annoying, at-
good, humor, little, isn, | don, look, rated, picture, | tempts, failed, attempt, bor-
action just, films ing, awful, dumb, flat, comedy

ns || 3.516 2.802 0.135

Table 4: We list the top 10 most likely words for each topic for the models specified. The topics are organized
from highest to lowest with respect to it’s corresponding coefficient for the supervised task. In the context
of movie reviews, positive-sentiment words are listed in green, negative-sentiment words are listed in red,
and sometimes positive, sometimes negative or neutral, but sentiment-related words are listed in yellow.
Non-sentiment related words are listed in black.

9.9 Coherence details

We calculate coherence for each topic by taking the top N most likely words for the topic, calculating the
pointwise mutual information for each possible pair, and averaging. These terms are defined below.

1

coherence = m Z pmi(w;, w;)
w;,w,; €TopN

. p(wi)p(w;)
pmi(w;, w;) = log —————=

( J) p(wi’ wj)

_ >ogl(w; € doc d)
p(w;) = i
I(w; and w; € doc d

where M is the total number of documents and N is the number of top words in a topic. The final coherence
we report for a model is the average of all the topic coherences.

The numbers in the paper are reported with N = 50, but we found that the general trends (i.e. pf-sLDA
topics most coherent) were consistent across several values of N. For example, for the Pang and Lee Movie
Review Dataset, we have the following coherences: 15



N 10 20 30 40 50
pc-sLDA 0.42 0.44 0.44 0.46 0.49
pf-sLDA 1.52 1.69 1.76 1.92 1.99

9.10 Coordinate Ascent Updates
9.10.1 E Step

Denote L, the terms of the ELBO that depend on ¢ and similarly for other parameters.

© update

L, = Z;wm%> <;;¢nkwnv log6m> + (1 - (Zv: wm%)) <§v: W logm>
+> <Zv: wm%> logp+ (1 - (Zﬂ: wm%)) log(1 - p)
[

- zn: Zv:wm%> log (ZJ: wnvsov> + <1 - (Zy: wm%)> log <1 - <zﬂ:wm%>)

ai_Ls@ = Z Wnj <Z Z GrkWny log ﬁkv> — Wry <Z Wny lOg 7rv>
J n k v v

+) " wp;(logp — log(1 — p))

R R R )

=" wy; (Z i log fr; — log m—)

k
+ ) wp;(logp —log(1 — p))

=) wy; (logp; —log (1 — ;)

Let

Q= wy <Z Pni log Br; — logm; + log p — log(1 — p))
n k

Setting the gradient to 0 and solving, we get the following update:

exp(§;/ >, wnj)
" T ep(9y) 20 Wnj)

This update makes intuitive sense. It looks like the ratio between the probability of § and 7 explaining the
word, weighted by p, normalized, sigmoided to make 11& a valid probability.



¢ update

Assuming y depends on 6 for now.

Ly =Y > éuk | ¥lwm) - Z%
n k

+ Z (Z wn1)<)0v> (Z Z ¢nkwnv 10g Bkv)
n v kv

=D Puklog bur
n k

Let w, = v and using Lagrange Multipliers with the constraint ), ¢, = 1:

K
0
Ly =U(%) =¥ [ > 7 | +¢ulogBry — 1 —log dpi + A
6¢nk j=1
This gives the update:
K
Gk o Bl exp | U(ye) =T [ D
j=1

This is the same update as LDA, with 8 weighted by .
~ Update

K
Ly =D (o =1) ( lw) =¥ | D

k

+Zz¢nk \II 'Yk ZVJ
n k
K
—logT (Z ’yk> =Y logT(w) + > (e = 1) | Tlw) =¥ | D
k k k J=1

1
T 952 (y2 - 2y77TEq [9] + UTEq [GQT]U)

The gradient of - consists of two components; the first (for the first three lines) is the same as in LDA:
9 /
T%Llfy Yi <a1 + Z (bnv ’Y?) - v (; ’Yk) ; <ak + ; ank - 'Yk)

The second term is as follows: 17



K
oL2 1 D=1 hVdj =i (Yo + 1) + i(2 + 1)+
1o L gy =T ') 123 Va6 (o + 1) + Yarvai (270 (0 + 1) +19)

Yd
i 202 o % Py % (0 +1)?

(1= 2var)73 (0 + 1) 4+ var(var — 1)(270(70 + 1) +73) 49 anm%ﬁg — 2%0%iVk

% (0 +1)2 = %

+ i

2795 — 2907k
42 20— 2000k

Yo
9.10.2 M Step

7 Update

() o)

Taking the derivative and using lagrange multipliers with the constraint ) m, = 1, we get:
9 — L, E 1-— E Wiy @ Wnj + A
a/n_j - nvyuv 7_(_]
W s
— E 1—w) 2 1\
el

This gives the update:

1—9;) ) wn,
n
This is an intuitive update - it is the proportion the word appears, weighted by ¢.

[ update

Adding a Lagrange multiplier for constraint ), Bi, = 1 Vk and then taking gradient:

0 0§ PrkWnj
La= rJjrnr=nj +)\
aﬁk v Z ﬂkv

This gives the update:
Brj < Z P Pk Wn;j

This is the same update as sLDA, but weighted by ¢.

« update
This should be exactly the same as in LDA and sLDA via Newton-Raphson.

n update

Same form as sLDA updates, but replace E[Z] and lf éZ Z"] with E[f] and E[007].



6 update
Same form as sLDA updates, but replace E[Z] and E[ZZ "] with E[§] and E[00T].
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